B4 ar-b? > br+a? -89 7k BE A5ol7] 913 a o 2027

(a, b= A=)

@ a=b0l1-1<a<1 @ a=bol1l -2<a<?2
® a=bol1 -3<a<3 @ a=bolA -4<a<4

® a=bo]1 -5<a<b



2x+5>4x-1
3—x<2x+6

o o FolA B3] A%

Fotof






4. (a+b)x+(2a—3b) <09 7} x < —%og W), BEA] (q—3b)x+ (b—

2a) > 05 Zol=t.

B
=






3x—2>-2x+3

2(x+1) =8
x 1
2=1" "

-02x-1>-12x-3
Tx—1>4x+11
3x-3<1-2x
2x>6

-x>-3

2x=3x<7
x+1>5



2(x+a) <6
3b<3x-3

g7t -1<x<2¥8 Ha+bo TS



7V 2 ghe Fotoler,



9. o Ao 2 wjo A 6 & M S 9 Wk 2, 27 o A 1 AR
312 5 0 o} ATT At of W), ofE Ad4E Fo?

@D 4 @ 5 B 6 @ 7 G 8



-
S
=

=
r

® a<b¥d o, -1<x<30|th
@ a<bd M, x<-1, x<30]t}.
® a<0¥ ®, -1<x<30ltt
@ b<0¥ o, x<-1, x> 30|t}

® a>b QU HEAo gt AL yof tiste] AHY

St O AR GA] ax? - 2ax — 3a > bx? — 2bx — 3b°| W5t Th

Siot,



bl 4

S

Fod=t.

]

OJAFEFA] (x +1)? < k(x* - x + 1)0] BE A xof of
&

9w, A% ko) Hgt

g

A

11.



12. xo gt ojx 1S4 2 4t ax+b>09 7 tx<1 EEx>4d 0
A a+ b 9] S FotofEt

s
=¥



ol

ol

oy
il

@ 2 3 3 @ 4 3B 5

D 1



14.

E_E_ /U

rlr ‘<
[N

D 1<k<5

of thate] T4 y = 22 + (k- 2)x + 3 9] I 7t A

e 2 o T i $1Eol 7] 91 Ak 9] el W

@ 1<k<5h ® k<-1,k<5

@ k<1l.k>5 ® k<1l.k>5



A}

o O



OIZPTA Al 42 + dmx — 3m = 09] T &2 -1 1Aro]of QA1 &
T2 —1HT 2= 5k A m o] HeE Fobi?

2 1 1
@m>91 @m>g ®m>—g
@m<—§ @m<§

rek



12x-2<08x+ 3.2

x—2 2x-3
3__ 1 "3
0.9x<6
H?
® =5 B -2

NA;7ta<x<b LW, a->



18.

(7h 2x-y=-5

(Y —x <2y <3(x+6)

@ x>8

@ —2<x<8

@ x<-2

B —8<x<?2

@ -8<x<-2




@O -2<x<1

@ -1<x<0

24+ 3[x] -

3<09siE? (&, [ x Bk 24 o2

@ -2<x<0 ® -1<x<1

B 0<x<?2



FHREA 2 -2x-8>0,
2 (2a+1)x+ a2 +a < 0°] Hste] FEHI7}F A1 L=
She A% ol WAS b<ascet @ o b+ ool G FhA?

=
|

o I

D -1 ® 0 B 1 @ 2 B 3



